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A : 2000/5 = 0177 m
@) dsin 8=maA so (0.300 m) sin 6 = 1(0.177 m) and 6=
(b) dsin 6 =ma so d sin 36.2° = 1(0.0300 m) and d=|5.
(€ (1.00x10°® m)sin 36.2° = 11 50 A =590 nm
_c 3.00x 108 m/s
f=a= 590x107 m ~ (208 THz
378 Takingm=0and y = 0.200 mm in Equation 37.6 gives
-3 —3
[ - 2dy _2(0400x10 m)(?.9200x10 m) _ 0362 m
A 442 x107° m
L=1362cm

Geometric optics incorrectly predicts bright regions opposite
the slits and darkness in between. But, as this example shows,
interference can produce just the opposite.
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37.35 If the path length A=A, the transmitted light will be bright. Since A=24=,
A _580
da==0 0 (55 o
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